MY UPSC.COM | MYUPSC.IN

{ - Class 9“‘ student M'lhl visits the hask for 3
e fiest time along with her father. She
observes that fovher s issued with a small
book which her fther tells that it s a cheque ||
book. She opens # and finds some pre
printed information on it. Some of the

mformation printed 15 same on all the papes
but one number is printed in a serial order.
She tries to change it But she is unable o |
do it Why she is not ablke to change 7
ldentif'y the specialised feature of the cheque

{A) BAR Code (B) QR Code
© MICR Code

(E) Question not attemnpted

(D) OMR Code

w9 B T WS A R H T o A
¥ T ¥ 2 Y & e e T 9 o
i & Tt Red s e 3 9w FE Buaw
¥ el & o o B 5 X v A 3

R RS ¢ | T © FB Al 190S 7% | 4

T EHH ¥ TR 0@ 5E wErEn e g b
% T 929 W WETE T S T TG T T
9% 38 gEe H o =i 37 9% o @ Talie

Tasioa & wEET |
(A) BAR %z B) QR @E
- S&r MICR =15 (D) OMR @
(B) wai@ 9 |
2 1f 20% of 500 is equal to x% of 400. Then
value of x & -
atz 500 @ 20%, 400 F x% & FwE Y @A x
w oy q kY
(A) 24 B 2
© 26 ™ 3
(E} Question not attempted / SRR we
23INAs-1) O

|

Page 2013

-

Consider the Excel fommyly g

s )
s

iy T Excel T % T Excey W\#
—

T
m

What will be the output in colump
i 5 ¥ =0 Pofg oW gm?

T \
{m'{:. J{)”{P*”'

T E
@ 2.0 MmF
T F

(E) Question not attempted / @i

LCD Panels or flat panel display use
property of

{A) Thickness

(B) Light
&) Size (D) Fiter
(E) Question not attempted
LCD ¥ W Wz ¥ % wedm #
N wEm B ¥

(&) wverd (B) e
G s

D) WX
E) aEiE v

An

—_ 152 homogenous structsf
sarts with index number.
ADictionary, zerg ®) Amay, *
(:3) Array, one (D) Strings.’
B Question not altempted

RRRELE oo 8 N
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i‘g‘i:cm components which muk_c
Smarl_[ o have 0 be condensed o (it
Phone, 1 is known os
Moy oy a chip o
Tocessor o a chip
YStem on 4 chip
Touch oy a chip
Qal;:sliun oL attempted
UM W s gichu
A) ¥ oy T fig
B) e iy T fag
©) fren st u fig
D) =7 & ¢ Ry
(E) \'ﬂiﬁrﬁﬁ Q95

In LAN, connectivity can be created using

Wi-Fi, or cables.

(A) Radio (B) Mobile

(C) Ethernet (D) TV

(E) Question not attempted

LAN & Wi-Fi, ur Had Wl TeE
g @ e s awan

A) ®) s

(C) TTE Dy TV

(F) ogata g :

converts the analogue voice signals into
Eﬁéi—t—al and then transmitting them over the
proadband fline.

(A) VOIP
(B) Chatting
- (©) Website .
) Video confe rencing
(B Question not attempted

anmﬁvmm%f’ﬂzaqm
f’é’ﬁ@@;ﬁg&gw{mﬁf(ﬁmh

@
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[
. 2 . ﬁlcmod
Fach file can be accessed through @

n can

g = . 10

Fhese file modes decide whet act e is <°
- : - file Mo

performed in the file. It the file M

then we can only - - the contents of the
file.

(A} wrile (B) delete

(C) overwrite (D) read

(E) Question not attempted

TG BrE @) G qs Ew s
Tl 31 T% ww i Paftn wen & 5 98
wigd ¥ @i & fpar A1 w0 AfE BET TE <7

B ol ¥4 39 Bz @ Had (1
(a) fra (B) fazi
© THEma D) T v

(E) ogaf@ e

The instructions cr data fetched from the

memory, is stored in the o decode
and execute,
T ¥ Uk sen 4 P 5 WU B

% A pearem Rars ) ot ahoomy o afeman
W )

(A) MDR B) PC

(€) ROM (D) MAR

(E) Question not ttempted / ¥aiE 9y

In mesh topology. he requiremen; of number
of wires for “»" nu ibxr of Computers can be
calculated using the' formulg

A AR A, 0 FE 3 o a1 s
T W T

3 31 &
& T W
+ =
w RN gy ek
+ (n+
() -——-—” (,,” ) (D), 2.(_5_:_!_)_
(k)

Question not Atempled/ sy U§y
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@ Fird the missing tem.

196, 1005

(A) B) 45 u

€ 35 D) 20

(F)  Question g altempted / TR gy
IS Which amongst the following ig Notasearch

engine?

T W AT a1 S T

(A) duckduckgu.cum

(B). bing.com

€)  yahoo.com

D) wwvw s

(E)  Question ngt allempie / TG gy

23INAS-1] O
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The bution of the mouse i 51s¢dctl(;
displayr _ waenu list of diﬂ'c-r'cm coman
related to the selected graphic component.
(A) Centre (B) Rijtht

(C) Diode () l(,jcfl

E testion nol attemple

;re.)v %{Q _ T ® W@ iR g
M 2w 3 e Rater e, ) |

wﬁsmﬁ“ﬁﬁ%,%ﬂ?fwﬁhmﬁ%mm
SR}

(A) =g B) =
©) =m D) =t
(E) W

TR STATIONARY' '

"TATSOFYRAN’ fira ST #1383 -y

¥ ADVANEAGES 2% %3 g

(A} AVDANSE'SGA &

(B)  SEGATNAVDA 1

C)~ DVAANTGASE
AVDATNSEGA -

€) Question not attempied, AR wey

mﬁmmmﬁmm-
3,4, 12,
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16

18

19

|

[n a Data Entry ‘?fﬁce“f
are i tand 4™ flgq
conneCed three LAN
te time to travyd ich &
fdtowing hadvare cqy . an
transmisston?
(A) Repeater (B)-
(€) Computer : “(D] :
E) Question not g emmed
a}eﬁr’rﬁmw%‘tﬂﬂthN ¥y
3¢ ¥ Rl (&helt) & qﬁaﬁﬁ'w
U BT T &7
(A) ez B)  Trey
' D) =iy

©)
AR

(E)

Identify the Wrong number i g,
RN L T i
145, 122, 92, 82, 65, 50

(A) B) &
© 122 D) 65

(E) " Question Nt attempted; o

he
Boctm%

HO\;\fev -8

Identify {he Menu tab of MS-Word
add a tapje na document

A Wi (am) weds
R s 32
(B) File
(©)  Page D) Ad
®  Question Not attempted / 31F

Which amon
o

gst the following is o
Protect

€ System from malwdl
Irewg|| protection 3

Avoiqd using the public Wi

©) Taking 4 regular back up

- Pening the pop-ups

(E] Uesti on notattempted

Wﬁwﬁ?@rfﬁmaﬁwﬁlﬂ“‘

B ey &7
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-@ [90x1_5~12x20:lq}
i -_--_-_'_"-—-—-_.______—
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P

2

[70x8+11><5]

(A) 2 (B) )
e} 3 ) 1
(E) " Question not attempted / afta we

Dot matrix printers are also known as serial

printers, They print one at a time.
(A} Page (B) Character
(©) Line (D) Word

(E)  Question not attempted
gz Jfyaq fier & Giftge fe ¥ =9 § s

A &1 T TH A A 0 T @)
HLaT 3
(Aa) T (B) @
(C) v/ dm (D) 9=
(E) oFaia s
LU
8 2 4
19

(A) 7}82 ®) 63

17 19
T @

(E) Question not attempted / FTANE 99

most bit of the Binary numbers is

23 The right
ﬁmwﬁwﬁ'mﬁmﬁaﬁrmm%
(A) LSB () MBB
' (C; MSB (D) LBB
E) Question nat attempled / FTARE w3
;23IN as-11 O

|
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Round robin is a method of __——
scheduling. -

( Non-Preemptive Schedu e
rﬁf Both freemptive anc'i NO-Prccm]EI)on-
(C), Neither Preemptive nor

- Preemptive

(D) Preemptive Schcdulin%1

E ti ot attempted

(Tr:i)'a' ﬂ%ﬁsq:sn " wuw fafa &
(A) T & smfaga w9

B arfuga g ATIEa
Ec; faqﬁmma@mﬁﬁ
(D) A & efapa w4

(E) &aia us

IDE stands for Integrated Development

(A) Environment (B) Evolution
(C) Educational (D) Enterprises
(E) Question not atterrﬁlpt_ed_‘

IDE &1 oref & — $2RRT SIeaHe

@A) e (B) T

(C) TEmEw (D) dZTEs

(B) ogai@ ue

On dividing binary number by 11,

the output is 10. Identify the correct option.

feemurdl ofw @ 11 | AT S 9,
arsegz 10 ¥ &1 we free & wsEH|

(A) ol (B) 110

© 10 o) 111

(E) Question not attempted/ 3FTRT WA

is a networking device that extracts
the destination address from the data packet
and searches for the destination 1 send the
packet. It sends the signals to only selected
device.

(A) Server (B) Switch

(C) Hub (D) Wires

(E) Question not attempted

TG "ealdT SIS § N aew W @y
sR1 YT ¥ gt P ¥ aw S9 viaei &
W HIT & T The S w3 98 Haw

gU SuETl H Rea Yerm w1, L

(A) it B) fam
(E) agafi vea

[ Comd..,
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All the information on the internet is passed | 30

usin swilching method.

(A  Figes (B) Pouch

©)  Primary (D) DPortable

: uestion not attempied

T W mh e R @

HHT T &

(A) e (B) urw :

©) o (D) ¥ (gamer)

E)  sr=ta oy

29 Given below i a question followed by two

Statements | and IJ.

You have 1o decide whether the data, provided

In the Statement, is/are sufficient 1o answer

the question,

ucstion ;

Find the cost of fencing arectangle a the rate

ofX" 10 per metre,

Statement :

L The Length of the. rectangle is 30 m.

IL. Breadtn of the rectangle is twice
of its length, -

Answer -

(A) I data in statement Il alone is sufficient | 31
o answer the question,

(B} If data in both the Statements | & ]
together are necessary to answer the
question.

(C) If data in both the statements 1 & [
together are not sufficient to answer the
question,

(D) If data in statement I alone is sufficient
o answer the question.

(E) Question not atiempted

STUH! A TH 9 3T 39% a2 < 72 lein d@

R 0 & 1 oy wE @ BT S R v F oy

pihaapestmiemsibe I T E SRR

ey | “al.."":‘"" E. W EE 'R RN Wahas s AW

U 710 % AT T A0S @ % @t T0 gy

HT F 2T & T S

FU :

L omrga @) e 30 Az ¥

0 smod @ dier wwrg & & 7 3

I & - .

(A) af Fam w1 F fa wn swy v o
AT & form waf ¥

(@, A 9o BT I & oy pe ey | 33
A R s1en af amasas &

©) =R w1 o 11§ R e, o g

- IO & Ty vata @ 8 " s

(D) Ul &aw BUT | ST 95T o TR &
fra ot &) -

E) orgafa v

23INAS-1] O l’age60f32

- data in a software

. ahl@i-;g: is relative 1o multipsl:
lhfi lﬁormarch method.” Which are qp,
}:s- ng :;Ea:t ure s of the software thatenaj
::Jn E(;tzr e data. Identify the bestop[ion_
i 5 B B
i fafy 3 BT A 3 e oy
e 8 1 T 8 W A 50
P 7 ¥ STSRA ¥ ez o
vagea et T =
(A) Word, Find _
(B) PowerPoint, Selection
(C) Access, Find
(D) Access, Query -~
(E) Question not attempted/ Gﬂ'ﬂﬂ‘dm

"Org

The preprocessors in C are defined
character.

CAMIRET R wiwdes zrr o
frmn = &

(AL # @

< $ © 7

(E) Question not attempted / Blﬂﬂﬁ'd“

Unscr&mble the letters in the words gi
below and find the odd one out.

%ﬁﬂnﬁw’f%mﬁaﬁmﬁwm‘

= MY 3R 37 Q Ry o H GG H

NPE, LINCEP, RERAgE, KOBO, LALB

(A) RERASE (B) LALB

© Neg (D) LINCEP

®  Question hot attempted / ormftd ¥

(111111000101101001) =q__. N
00se the torrect optign -

Eglelss‘- (B) 3F158

(E_)),3Fl6 M 2E158

Question po attempted / aﬂ—ﬂﬁaqi

(o’



T e———ss— e P S OV PSS N —

When a user initiates multiple process to
the computer then the omputer follows
FIFQ method, The expansion of FIFO 1is
(A)  First In First Out

(B) Figure In Figure Out

(©)  Flash In Flash Out

(D)  Formula In Formula Out

(E)  Question not attempted

W U Iimgal Hee § 9F Whean S
FET & O B FIFO &1 a9 »al &
FIFO @1 forega =g -

A) <€ 3 & e

(B) & 3= et amse

(C© w9 T W anwe

(D) wrEn 39 wrfEn s

(E) omaia ws

On March 17, 2023 Chief Minister of
Rajasthan announced the creation of
19 new Districts and 3 new Divisions. Which
of the following is not a new Division?
(A) Dungarpur (B) Banswara

(C) Pali (D) Sikar

(E) Question not attempted

17 «rd, 2023 &, TSN & geEeas |,
19 faeil ofit i 7T @ &I I @ W Bl
Prafefag & & &9 @1 991 @s @ 87

(A) TRYE (B) =T
©) D) T
(E) oaRa@ e

Out of the following topologies which is the
least secured and reliable?

(A) Star (B) Tree

(C) Bus (D) Mesh

(E) Question not dtempted

Py wftafy Rem (St # B qe 5

(A) ®R ®) %
@)’ a9 (D) A7
(E) STAE we

_NAS-I] L
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Web based IDE’s are used to, de:\feli)p 5%
interactive websites. is an example
of web based IDE.

(A) Ruby

(B) Python

(C) HTML

(D) Microsoft Visual Studio Code

(E) Question not attempred

3 s IDE 27 i et SeeRd SaaTs
% Rl s & R fear s @)

39 smuig IDE &1 us%. IEET &)

(A} =

(B) wrg™

(C) HTML

(D) wE@iER Rege Q%-q‘f s

(B) argala v

Ravi and Kunal are good n Hockey and
Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are
good in Cricket and Volleyball. Sachin,
Gaurav and Mohan are good in Football and
Baseball.

Who is good in Baseball, Cricket, Volleyball
ard Football?

(A) Kunal (B) Gaurav

(C) Ravi (D) Sachin

(E) Question not attempted

Ty 3T FIE B! AT aeliom F o ¥ wiyw
3T T giwl A Jueid F oy ¥ fm adig
g e ol afeltar & ol 31 ahtm, i
3T e Peara ot dusia § oray ¥
Jqeie, b, didEw o geEiw § @

| &7

(A) o (B) irm
© D) whw
(E) ool wa7:

[ Contd...
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flow's the data of the
e gy et iS 4 the
. the | The givens .;';(;appguud andquql; Pud «
M has created o word document on fiwe schonls W 'r,-}},,;_ e & m
n i S W WL IR RGP Rocrd I 'J,f ﬂ'::mf fmm (0O . Nos. 41;0%
and o b containing. the list of countrics | gppever s gtelR ;

T UTF - a}éﬁﬁ%
and the dignitaries who visited India during ?f;'ﬂ % W & ollt gy 8 i
G20) Summit, His fricidd tells him aboud @ 7, l?ﬂ;i # m’ra?ffm 31 % B} A

39 Soh

ferm of computer awhich is generally used goF mﬁﬁ'ﬂ,’ I@AFE AL -43)
l?’ the: printers. The term is WYSIWYG. The K
ull form of is ) - i
(A) Wha you See is what you Get | I 2000
@} What yoy Simiplify is what you 2500
Generate g '
. 0 2000-
(C)  What You Send is what you Gencrale E -
6 1500+
D) What you Set is what you Get 1 &
o
()  Question not attempted ,5. 1000
HﬁqﬁGzoﬁwW@#ﬁwﬁ?ml i §
SR, R wn wifch P G20 ¥ @ ol s Lo L L 1
ST W & 3T Vewrdi ¥ A i PENEOLS =—=3.

6 B 59 g # 05 srad § a4 |41 Find out the total number of studens

; the schools wha_could not qualify thef
A W A 9t Riex @ro s ot wgell § Ty et (ardvd

: ) Uk
MR A WYSIWYGH mw oy m o Eaksicuf i I
®q & | (A) 4500 (B) 4750
: | €) 37150 (D) 4250
A) =R g & mer qix E) Question__n_)ot attempted / e
B) = g Rl g 7w g ae 4 Find out the Ra to of the number of st
B1E g R X appeared in school A 1o school B, _
(C) =r g s 59 @1 g oe gﬁﬁA@TB%qﬁmﬁmﬁaﬁﬂwﬂf
2 a’-iii%uu
(D) =r g & = aFR g i Eé\)) 3:3 B 5:3
3 = (D) 3:4
(E) omafe v () Question not aempted / e
B Fing (c)iu‘l the ratio of the percentage of st
ass :
40 Which option can_replace ‘2" from given Eﬁ;gég];clﬁmaﬁlool e Ec}é%gl%f Dt
relation? ) BC, 331 R Wﬂ?ﬁml
T A . .
A fo w94 4 ggTaras fae F e o o ECg g;g Elra))) 2::§
i ? & (E) Question not attempted/ \313“&5;
FAN : 1DQ:: SAT:? Nd cra:g,t‘_percchtage of passed studen®’
. SCaknlg 5 approximately:- 1
(A) WX ) W@ﬁwmwwm‘
(C). VDW {b) THU (5 Al M 10- .
s Y © 5% O @ ew
()  Question not attempled / et nyq 0 0% D) 64%
) Question not attempted /
23iNAsS-l O Poge B or 3

(4




S Achild has to cross road and reach the school
Opposite to his house. The child looks on
right and left before crossing the road. On
observing that no vehicle is coming, he
crosses the road and reaches school. What
action of algsrithm is represented by the
child in the above situation?

(A) Olllpu[
(B) Selection
(C) Repetition
(D)  Inpw
(E) Question not attenpted
T T 319 5T 3 Rrada Rerw e s % R
HSH UR & Gt ¢l I 5% U B B
qd 913 3l R 7 ofe 3wa 3198 9w @ R
UET W ¥ wuie Rafy ¥ = % @ fR
& A Rpd wet F wamiitas &1 wa Rean s
27
(A) emseyge (Frigk -
B g7 - 2
© g, o
Ox F792 ().
() oFula v
6 is an example of analog signal and
15 an example of digital signal,
rexpectively.
(A) Scanning, smell .
(B) Smell, speech
(C) Word document,-speech
(D) Smell, scanning
(E) Question not attempted
agq form &1 0@ SEE ¥ aw
Rfea faa & I B
(A) FHEERE, T '
(B) T4, 9|
(C) % slaygiz, amad
D ) 7, HHAR
(E) orai@ 94
23INAS-1] O
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. . ed by
You are given below a question followe

wo statements | and I, : pd

You have 1o decide whether the data provi

in the statement is/are sufficient t© answer

the question.

Question ;

Find the surface arca of a cuboid-

Statement:

I The sum of the length, the breadth and
the depth of a cuboid is 20 cm-

I Diagonal of the cuboid is 5435 M-

Answer - . o
(A) If data in statement II alone 18 sufficien
to answer he question. .
If data in both the statements I &

together are recessary t0 answer the

question.
If data in both the statements I & II

together are -not sufficient to answer
the gquestion.
If data in statement 1 alone is sufficient
10 answer the question.
(E) Question not- attempted
U R TH w9 ST SEd 9% & Hud 1 i
II R mu &) aneet g @9 &N G0N R U
¥ faan war =1 g & 9T 34 % g vt ¥
T TR ? ~
5 o
T% T BT A& e g ?
Sy :

20 AL ¥

1. o @ faet 505 A
FJaE -

(B)

©

(D)

(A) a1 A R T s oredt wgy o
gﬁ%ﬂmwﬁ%]

(B} WA IO W ¥ Ry e |

(©) 3R w LT 26§ Ry w12y, g oy
T T F g val @ o

% fon sl 31
() agaf@ v -

[ Comd___



MY UPSC.COM | MYUPSC.IN ~

: ' 3 - : 0, AVCrIo e
Myopia s another name for which defect? | 50 If 15a + 15h = 750, the average ofg,

(A) Short - Sightedness will be - "

(B) Colour - Blindness afs 15a + 150 = 750, W a 3y p o
(C) Haemophilia Tm

(D) Long - Sightedness (A) 45 ﬂ}lf 25

(E)  Question not atiempled ) 15 (D) 30
TR, fem @ @ qEa AW E7 (1) Question not attempted / 3z
Ay P - e 3w £
(B) ik 51 Identify the diagram and write the g
©)  Eriit conversion the system is pcrforming:r
(D) <4 3R <

(B)  orpafta wew

49 Representation of data in a graphical manner
5 an important feature of Excel. Identify it.
Also give the name of the component
depicted below -

sl P
;g_ — 3 |Converter| -, 0100
10 - i
=il l_| |_| - (A) Digital to Digital
e (B}~ Analog o Digital
(C) Analog to Analog
(A) Image, Column (D) Digital to Analog
(B) Graph, Bar (E) Question not attempted
(C)> Graph, Column fast @1 vea owr fd e @l fawm Emo

(D) Image, Bar

(E) Question not attempted

e Sifes @ TTHIT (69 HT Excel &t qeg
T %1 58 wEar adl faw F A e o @
feg A 9 Thma fmar e #7

Y& & 49369 B @ & —

m_.

15 -

10 - H

EAIRIN.

A B €
(A) T @
(B) W%, &%
(C) W% WH
(D) fa=, < (D) fafree & STAET
(E) orgafw 944 () orpaia W
231NAS-1] O Page 10 of 37 ( Cont
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Write in ascending order

(0D3, 0.00n, 0012, -1.0. 0.15

Which number comes in the last?

& ¥ domel @ i Bw A it st sin
Hfe B5 o O g o@ | STAM?

(.03, 0.0011, .0012. -1.0. 0.15

(A) .0012 @) 0.5

€ -0 (D) (oN3

(E) Quesuon not attempted / ITART 9L

IPSEC, 1P anapsulation and Tunneling are

the technologies used in only.
(A TCP (B) VPN
(C) Internet (D) Intranet

(E) Question not attemptcd
IPSEC, 1P dfirdieseer qun AT Ui @i

%, Ry ¥ e
(A) TCP (B) VPN
(C)r e D) IR
(E) oaRa 9%

Netbeans have visual components t© drag
and drop front end components, is
an example of it.

(A) Plug ins (B) Radio buttons

(C) Keypad _ (D) Debugger

(E) Question not attempted

Fedrm | geu UeE B € S Y37 dh &
qZH B GeE Be ST HE B el
TEH! TF TAETT &

(A) w5 (B) IRe-weT

(C) w18 (D) R

(E) arafe 94 E

An optical mouse has a fight emitting device
known as

(A) Triode (B) Diode
(C) Bulb (D) Switch
(F) Question not attempted
uF sifema A8 H W 9 SEeE HT I
da % fr@___ @el o E
(A) Zws, (B e
C) I= (D){ o
(E) orafea wed
23INAS-1] O

37

Page 1 of 32

56 All the scarch engines us€ _  ——

data

where the data is generated from the data
itsclf, such as logical database designs:

(A) Non-operational (B) Meta

(C) None of these (12) Opemtional
(E) Question not 1lt(.mplcd

it ad o o e T8 & T
mgaaaﬁaam%caamfmwww !
(A) oitpaEE  (B) T

© T e T (D) IEIED

(E) agaf@ ged

Find the missing figure in the diagram given
below.

ﬁwﬁ@rmﬁmaﬁaﬂﬁ_‘rt{_lr
O[] [O]
(A) . (B) @
(9@ (D) @

(E) Question not attempted/ i 9e

In a Word document, Simrat has to display
the list of online sites which can further be
used by a student for preparing a research
paper on, “The Effizct of Social Media on

the behaviour. of Students.” Which feature
of word is the best suitable to prepare the
list?

(A) Bullets (B) - Numbering

(C) Graph (D) - Linking

(E) Question not attempted

% 9% sghc ¥, AW @ o e | 9y

gl & Wi S0 E R aw ¥ e ar
“grAl & aEt 9T Gt A @ gwg gy
X e W A HE & I Sunim s 2 2
T B AT FE S 0 € @ B @ Rwga
Jugad & 7

By

(C)y WH < (D), il
() oraRa waA ®
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59 How inanyhlaycl:s are there in OSI Model? | 62  An L!naufhoriscd real lime interception ¢
OS! wfza ¥ fa g@T €7 monitoring of private communicatio
( /}L ; B 4 ch;:ltl\ggfn two entities gver a network |
C) 6 M 3 (A)  Snooping
(E) Question not attempted / (5 . Piisliing

. ple Gﬂﬂﬁﬁﬂ&‘l (C) Virus
(D) Eavesdropping
) E} Question not attempted
60 If ‘TELEPHONE® ] : ( o :
REVOR! wails a_"c?a‘“ co‘f’e' How is sefaga i @0 FEEA @ PrTTR
: en in that code? o1 T L - :
aft ‘TELEPHONE’ & f&dl gz-—wma & (A) aH-wE (T
‘FOPIQFMFU" foen i &1 5t St gz~ (B) Tsldm
# ‘MYSORE’ @t % foer s/m? €}, ==
(D) =l g gI (eRm=fm)
A}~ FSPTZN -
(A)+ FSPT (B) FSPZTN E) srara we
(Cy NFSPZT (D) NZTPSF
E - i sbewirtietl ] 63 Which is the first ever arch dam m Indi
(E) Question not attempted/ SIFTRA A (A) Bhakra Nangal Dam
(B) Mahabali Dam

61  Anuj is trying to transfier money to an agency ©) l;li.uklu Da[;n
from his bank. On trying multiple times, () 1rak1'1d o 4
connection to the bank failed. Because of | () (ecetiun 1;01 alten%p;t{e 9
the financial transactions, certain cookics q:_dm Sl _ Entl ¥l
helps to terminate the session where there is Gy} Pl _—

a time-out. These cookies are known as (B) 'IEIEEiI*am

_cookies. ©) 3% s

. L D) s @y
Auth

(A) Session (B) uthentication ® Gﬂﬂﬁﬁ Sht
(C) e-banking (D) e-commerce
(E) Question not attempted 64 Solid State. Memory Sticks ar corlll;;l‘?‘;

== ] s used in our day to day life. They areavald
g oo & @ el TR ﬂﬁ. IR BT in various storage sizes. Identify the &V¥
T %‘I’W A gyaTE % GENE 4% &1 HeaeE (A) Compact Drive(B) Pen Drivés
7 W W @ ¥ fada o § wm, ge (C) Printer @) Cache
FET oA B NG FE F A W & (E) Question not attempted -
gt fafra @ ¥ 3 g 3 Rty iy Rz ot i & 0
FEa £l @ ¥iqe R awan a@ I
(A) T (@) (By ity W %' T A F el 1§59

G } ) ReRgga B,
©) ) i O o
(E) oraia 9ed £) rafta v
ontd
23INAS-1] O Page 12 of 32 o
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Which of the expression correctly defines

the statement? .

2 G aftreati R g @) FOIRR HTOE 7
Check whether the vaues of 3 variables
agel, age2 and age3 are equal to ach other,
witg HY 1% 3 T agel, age2 T ages BT A

% gat & quat ¢

(A) agel age? and age2 == age3
(B) agell = agel! agel

(C) agel = age2 and age?2 = agel

(), agel = age2 = age3

(E) Question not attempted / Faia 9w

is mechanism by which one class
acquires the properties - data fields and

methods of another class,
{A) Encapsulation (,BT Inheritance

(C) Polymorphism (D) Class
(E) Question not attempted
s e & Rk @ @t gal
Tf ) fadvard - srer &9 o fafy @
S 2
(A) "9 (B) argaitis
(D) = (ma)

Pen drive is one of the most popularly used
device and can be used in port.
I 39 Th dga ABE I T R e
H ydm fear o wwmal B

(B) UBS

(C) SD (D) SSD

(E) Question not attempted/ SR WA

Madhu cycled 5 km south wards, turned right

an d cycled 6 km and then tumed right, cycled

5 km. Again turned right and cycled 7 km.
How far is she from the starting point?

(A) 1 km (B) 11 km~~
(C) 13 km (D) 23 km
(E) Question not attempted

ay 5 e = @ ofe adEa W ®
aire T a1 <1 gsat 6 Reedrfier ARt E, ol
f5T 3197 =74 gewmt 5 fpdiiier @il &1 a8 e
319 &4 ggey 7 fpeier o &1 o 9g o
g famg @ fherlt qu 2 7

! (A) 1 vz 11 frerie

| (C) 13 Remmitzr (D) 23 i
(E) ot we

23INAS-I] O
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—— to
Convert the fractional number o.1011
decimal. Choose the correct answer.

frmeas Wt 0.1011 @ zuifes 9T ¥ aae
A T g

(A) 0.6875 (3) 0.6900
(C) 6900 (N) 6875
@2) Question not attempted r’\'ﬂ_:!ﬁﬁﬁ v

Which amongst the following is qualitative

data?

(A) Gender

(B) Eye color

(C) Age groups

(D) Size of houschold

(E) Question not attempted

T ¥ B Qo gafa sims ¥

(A feT
B). At @ O
(©) =mafE

(D) =X & FER

(B) omaia we

Can we create an mp4 file of a PowerPoint
presentation?

(A) We can create only mp3 file,
(B) We can create only animation.
(C) We can create an mpd file.
(D) We can create only slides,

(E) Question not attempted

T T TSGR WA B mpd BEw ey
&7

(A) T &I mp3 GEA I gy ¥y

(B) ¥ &G AT (UPRE) q wey
(C) ®9 mpd WEE S g ¥

() & FA0 FES TN TE ¥

@) Fate wed
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72 While trinsmission of data fram a sender o | 75 Dev is working on an Excel Sheet. le ey,

receiver using Modem on Internet. the data a formuia as shown in the figure given b, 76 2{)
is tirst converted o frownn .

{A)  Analog. Digital : 125

(B Digital. Analog Al : 2 - Sum {SALSAL

(Y Digital. Digital
(1 Analop. Analog

(19 Question not attempied ' e ]
Yom @ WA O® TIRT B WA §TeR 9T : ==
dren ¥ w0 o & Read s wwm = ==

a ¥ yafGa st ¥
(A» oTwn, RERwEa
‘(/B\))- fefrem, orpeu
() bfhen Rfwew

e copies the same formula M vest g
(Nine) rows. What will be the output?
(A) Excel will display different outpu

(12) arEn, IIEd each formula.
(£) wai| wem (3) Formula is wrong.
(C) Error will be displayed.
73 Relational operators are accessed by ALU (D) Excel will display the same outpw
which gives maximum of possible cach formula in each row.
outputs. (E) Question not attempted L
dafim |fiem & ALU g aftgpa fean o & ¥ Excel §IZ T oW wa #1 9% Raw w
AL 1 " m 2 :
)y 3 oy o

L L - 1 124 |I 125
; | = Sum {SAlL:SA
||
1 T

|
l
|
)
1
\

(E) Question not attempted/ arafta v

74 Which MLA was given the best MLA of the

year 2023 award by the Rajasthan Assembly
on 20 March, 20237

(A) Ameen Khan | et
(13) Anita Bhadel

T T T G\@handra ]
(D) Ganesh Ghoghru T TN G W 9| 9 () Rl T 2
{£) Question not attempted LA &y IMITYZ T An?
20 wrd 2023 &, 6w fourns |, TuaE Brmm (A) Exccluﬁzﬁ-@&;&mm’@“m
o

Joln =] >

Lo

& Ty, waran famas @ ywan R w2 :

B e (B 3 e B

(C) eyt T ©Cy 3R (Error) R 4 ¥

(1) iy daw gl)) Ixcel o qferal o qj?ﬁ Lo

()  wafa um = f:‘ir-i aqq:iz frgm
23INAS-1} O Page 14 of 32 (o
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Operating system allows the fle system to - [

(A) Create, Access. Maintain a directory
and protection of fie  Trom
unauthoriscd access.

(B) Change the exiension of the file.

(C) Transterring files from one computer
w another,

(D) Rearrange the characters of the files.

(E) Question not attempted

H@ & —

Waﬂwﬂ-mﬁnﬁ,aﬁmmaﬁwm
T BISH B hiRd AR ¥ g9

(B) W3¢ & TIHAM B T/ %

(C) ®Ee & TH FgeL d UL Hgey ¥
T TR

(D) WIEE & T F SR 9T G HF § @Il

(E) ouid 937

How many total medals, India won in the
Asian Games - 2023?

Uiy @9 - 2023 ¥ WG A oW fhad wSH

(F=®) o Reg?
(A) 109 B) 105
©r 107 D) 112

(E) Question not attempted / SR 997
During May 2017, a very popular malware
infizcted almost 2 lakh computers around the
world. Jt demanded payments in Bitcoin
crypto currency. It made its victims cry. It is
known as :
(A) DBaby Cry (B) Crypto Cry

80

81

(C) Node Cry (D) Wamna Cry

(E}  Question not attempted

WE 2017 % o, U qea @IHNE Aeddy gy
faya | oy 2 @@ dgzy _“'zﬁ'iua;fha’ Wlﬂ'&'
farz-aaén far (Al & TG W A1) g0

yuTis exferrd) =) warar) $8 wE Al &
(A)—%d ok (B) fw< &rd
(C) e mr (1) a0 wi
(E) o gy=

Page 15 of 32

“*C) A

@ A.B.C. D and E are scated around a circular

table facing centre,

Dis between A and E, C is between B and
2 in clockwise direction. Who is on
immediate left of I

A, B,C, D &t B il us miemr &5 9T, &
W ATE Gr FIH, o @A A El

D, A alt E% dra & &1, C, B ol E % 919
ﬁuﬁaﬁgﬁﬁt%ﬂﬁh%laﬁ?liiﬁ frmzan
gl ofit de1 &7
(A) D B) E
> C
(E) Question not attempted / A W9

is a complete software of a third

- party that is installed on the host computer

and can be used by the browser for multiple
functionalities,

(A) Add on (B) Plug-in
(C) Extension (D) Firewall
(E) Question not attempted

T oS 9 @ YU wieeaar & R
B T ¥ Sl AT & Al 39 9ISe &1
Sydm few o © aiie fafree framed o
qu fmar o @H

(A) T (B) W
(C) wwaEL (D) wEErg

(E) STaid 9

Four sets of numbers have been given below.
Out of which, three are alike in some manner
while fourth is different. Choose the odd
one,

A wet § TSRl & O ey ¥ e | dm
afeadl W 38 T ¥, wrafs dr wyes 39
LGRS R I cl s

( (. 9, 99) (BY (3,9, 90)
€y (7.8 U3 1) 6, 8 100)
(9  Question vol attemipred/ Jrgafed we

[ Contd...
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& User defined functions in C are writtenl using
the keyword ]
C3 I9anmRal SReTST e @
d @ wee ¥ e s
(A) Deline B &f.
© Def (D) define
(E) Question not attempted/ HTAT T

T

s is a standard machine language into
which Java source is compiled.

(A) Object Oriented

(B) Bytecode

(C) As seémbly

(D) Interpreter

(E) Question nol attempted

& qE A A & e s w
H " Rear @ )

(A) e dfws (g amaiia) v
(B). ey

© e

(D) BT (gt

() waia weA

fact (N} -
it (N equals 0)
Rewumn 1
else
Retim N * fact (N- 1)

The above algorithm is a specific example
of

(A} Sorting (B) Recursion
(C) Displacement (D) Selection
(E) Qu éston rot attempted

]
(A) sfem B) waEdES
€ Fra (D) T
(E) orgaia s

23INAS-1] C
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:1;/ vithout an IDE, a developer has 1o select

deploy, integrate and manage all of them The total teachers in us
wise distribution has b
chart. Study the pie-che

questions that follow fi

aphically Separately
A) Graphically (B) :
{C) None of these (D) Vit ually
(E) Question not attempted~

3 : g, T 6 ¥ 6000
foadh a1 g, T B, 76,000, s7earg

(IDE %aféml r__a_;_@g:{___ : . -
FT TS & = w2 ol gyt & g (.

| =
a7 Al B
s aos 8 (B . :
& st @ o

Percentage W
(B) arqaia w9 Toach
S|
Following steps arc followed;’fgr @ progry
written in a high level language by, Dt
computer- X \
i pThe program is compiled nto objy s
2. Source program is read and loadedy
memory. -
3. Compiler reads the program loadedi
memaory. 87

How many teac
move o distric
have the same n

4, Machine language routines for ready
and writing data.
5. Compiler may be removed fim

. memory. mm@
I AT O W W Sew g arwdke (0 S o &
Fhaame- (A) 660

1. % vum sieiee sow 3 Gt il ©)

2. HE YU B 3E ¥ getvg fea
4T YT S E)

3. dwem, W0 Raa vow, 7wt

4. A9 wwn Prafe w0 Y ST @ W@ 8s
fres & g a0

240
(E) Question

The difference o

: . N : of district C and

éh mﬁmﬁmmmm of distret D will
oose the answer with correct sequen® R S C % a1s

:S;r;p;;rom the options given.below: D %Gﬁﬂmﬁrﬂﬁ

T Rt ¥ & wron 3 wd R :

s : =T % FE Y Rrelf % aren

U() 5,4,3,2: 1 s il

% 3,2,1,4 5 e * (5 &

4,5, i i
(D) < 4 { : i :; (€}  Question
(E) ’

] f
Question not attemplegi_fﬁﬂﬂa 23INAS-1] O
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The toral teachers in a state are 6000. Their district- | 89
wise distribution has been shown in the given pie--
chart. Study the pie-chart care fully and answer the
questions that follow from (0. Nos. 87 - 90).

T F ey 6,000, orearaw & 57 @ @ FHrarTd e
N g R F Parar war &1 WEARE @ gererigds
92 iRyt & a7 Si(weA e 87 - W)

Percentage m"Distﬂbuﬁon of
Teachers in 6 Districts

87 How many teachers from district C should
move to district F so that both the districts
have the same number of teachers?

fir ans fe G R F & 99 o, feedt | 91
s 2 Ryl % ey S e STy @ ang?
(A) 660 ®) 960

(C) 840 (D) 1020

(E) Question mt attempted / SR U¥T

88  The difference of t\}vice the nurnber of teachers
of district C and thrice the number of teachers
of distret D will be?
afz R C % srenuat & we & g ofit e
D & et @t Te B & T % far e <

AT el & ST @) GEaT B AT B P
A 720 (B) 840
) 660 (DY 960

(E) Question ror: attempted / rafE wg

23INAS-1] O Page 17 of 32

Ratio of the number of teachers in disctrict _f—l
to the number of teachers in districB W ! l
be-

foem C mms%mﬁmﬂm
FTEM ?

(A) 6:4 @ 7:4

C) 4:7 @) 5:4

(E) Question not attempted / STgaftd J7

Ratio of the n" urixr of teachers in district E
and D to the number of teachers in district B.
A and F will be -

Rt E ofrt D 3 oreaaast ot s o Rdt B, A

3T F % oreamaa! & g & ofgawd &
(A) 2:3 ®) 3:2
() 5:4 DOy 1:1

® QLESII%% not attempted / SFART 997

Binary file tontains machine readable
characters in- and format.

(A) Alphabets and Numbers

(B) Special characters and Numbers
(C) Alphabets and Special characters
M 1,0

(E) Questio:n" not attempted

e SO < I

(A) &, gen
(B) fafite wwdls T d@e
(©€) T R T

D 1, 0
(E) SO -9

[ Contd...
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statement 95

[n MS-DOS, when Powerj

= Ly
f C program, - does the following tasky nl'3.
9 immedlately e}{ll:cal lgopa S pp g 1' Rcst Of OS 1S pullcd
of the body of the l00p- . Il portion 97
: ¥ gl 2. Small p of 0g |
C g % @ | T W loader oy
o @ & T o @ O ¥ 8 i
A) else (B) continu€ 8 Stores 1t -m e Memgp,
jc)) i ®) i 4. Loads it mnto the Main my
() Question not attempted / Al 9¥ >. Gieldl - et
MS-DOS # S fReTel &1 figy 5
9% In the diagram given below : b 5i 208 £ B0 w0 .
& L 9w @l OS & W Ry, P
4 Y 2 OS @ B A F fiy
® v N 3 T g wHl A kg T
: i\/ 4. 3@ geg A F sy
5.7 w@d §g
® indicates process. . Choose the answer with corrects;
((g I;put (E];) Repetetion tasks from the options given bk
roce
s (D)  Output A R e Rreeedt ¥ A @ ¥ s
(B)  Question not attempted B T P
R my firw :
(A) 2,53, 4,1
e B) 5, 2,4,1,3\./
Y
@ v N @{ 2, 3, Ss 1, 4
/ M s5,4,23) 99
N (E) " Question not attempted/s
® _ wfsar Bt Prefg >
A) Tz = B ¥ % IfEarthy ¢ » AVt
(B) W : Sk}? ‘Sks 1Cc:-‘lued Water’. \\ald.
©) whear D) . Calleci‘R Y 1s called‘Land’ a°
R — ooy 0af”. Then where would’
S8) Land Watef
% Fing the mirror oy © Ro o f ?[3); Sky
S O ma pe of - (E) Question d
; N Wiy - On not attempte
(rzw oy Wrﬁaﬁ T e e, o ﬂ:
) tiSMmg T WSS @ aive ol @
Cu tizwg ~o MSMp N B gy
(E) Question :{D] tIZWd Eg)) it (B) A -
Cmpted / ey o !
23INAS-]] O i (E ®) 23INZ
) R g :
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The 2021 census of India is its 16" census.
In which year did the first census in India
take place?

2021 % ST SrEad @ gedl S #
aﬂv@raﬁﬁwaﬁ’rqﬁﬁ@rwgm?
(A) 1950 (B) 1856

(C) 1962 1872

(E) Question not attempted / ST ue

The kcyboard of an operating
system uses a fixed QWERTY key layout.
This can be exploited by keylogger but are
still safe than normal keyboard hardware.
(A) Online virtual (B) Software

(C) Semi-soft (D) On screen

(E) Question not attempted

ey atfuifen fown T A’ Tiea
QWERTY fram s wam sxar 3159 d a@t &1
IR ETT HEE GEEE W eFd €, g 98
R B G TR B ga A At g
¥l

(A) offerss smHEl (B)  |ieaEl

(C) wi-are (9). 3 BoF

(E) omgaia 99d

Which option can replace®?:?’ fiom given
relation?

Temperature : Thermometer::
(A) Length : Scale

(B) Bank : Money

(C) Height : Barometer

(D) Water : Milk

(E) Question not attempted
4 W wEm § gEaes e % ®E g w®m
TN ? T &L

i

LR G 10| S G

(A) @ : a9s o
B) % : pu

©) \Fa : argrrd |

@) TR <

(E) wgafa ge
23INAS-1] O
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0
100 Given below is a statement followed bY L

ﬂement

courses of action I and I Assume S sl

o be true and decide which of the sugges
courses of action should follow -
Statement : :
One of the students in school is behaving
very rudely with other students, €Vell
physically hurting them.

Courses of action :

I Student should be expelled from the
school. ]

II. Counsellor in school can have s€ssiOns
with that student to understand and
change his behaviour.

Give answer -

(A) If I course of action is to be followed.

(B) IfIand Il both courses of action ar€ to
be followed.

{©) I none of the courses of action is to
be foliowed.

(D) If I course of action is to be followed-

(E) Question not attempted

4 s wua fomr @ & Res uemg 9 feand

I afx 11 & 72 &) o & 9 9 T foof &

s gag T el § ¥ Rew & SgEe &

ey -

A ¢

frerera &1 o fand, ae R % g g

mﬁtwmm%aﬂwaﬂ%mm-rhz oy

& @ 7 T B

FAEE :

I el @ Reea & P 3 o

. frel &, @ SR & 9, g5y w6y
it @i w5 Rl @ T s ot
Iq% AAERN H qitaas @ EFH)

3T g —

JAY- TR Tl 11 & o w5 ¥

(B) gt s 1 al Il A & 9T weer 3

(C) ik fedt o oAl | wes T e 3

(D) TR wdamdl 1 &1 9 BT ¥

() agaia v

[ Contd...
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101 The cost of 4 shirts and 2 pants s % 3_000
Find the cost of 6 shirts and 3 pants (in 3)?
af 4w ot 2 ¥z @ @Pww < 3,000 3 A
6 w9 olT 3 ¥z @ dma X F) Fm a7

(A) 5,500 (BY” 4.500
(C) 4,200 (D) 3.800
(E) Question not attempted / S 957

102 Public class Person
String name
String Telephone
String email
/1 class methods
initialise{ )
// code for initialise
Public Print( )
Public Name Getname( )
return Name
Public String Getemail( )
return email
Public String Gettelephone( )
return Telephone
What will be access specifier of the field of
the above class?
(A) Private (B) Public-private
{C) None of these (D) Public

~

i N method by

: is
red divis? g

o

Binary- D
Dedrd Decimal

ecimal

(A)
(B)
©
D)

(E)
R RR T ¥
¥ gz % Rrg Rear S0 Fl

() fromerd, gAEd

Binary, Binary

Decimal. Binary

Question not attempted

(B) =eWEd, WD
(C) faemard, famemdl
Dy wr, fammendr

(B) oraf@ wsd

(E) Question not attempted 105 is a network security sys
Tﬁ'ffnﬁ CSILN & A & fafie AFEEHTH & = designed to protect a trusted private netw
Ay Pell X (B)arkm-fro trom an untrusted outside network © v
€ T AFEad (D) & V it Is connected.
(E) Srafa ue .
(4)  Cookies (B) Firewall
103 is an example of impact printers, (o )
(A) Inkjet printer . " S (D) Bridge
(B) Deskjet printer () i
(C) Dot matrix printer Question not attempted
(D) Laser printer Yo
(E) Question not attempted ?ﬁ_ﬁhj__r ;:(5 & T @ mﬁ
_@wﬁuwwm%t . ﬁ»ﬂﬁl&waﬁmm
AT gEae fifer v 218,
(B) ¥@mere Riexd @ T 5 forg a=mn w3
iy i i ®) e -
s O 591
(E) oraf@ wyw D) Rt
(E) AT
23INAS-1] O ¥
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106 Sumati has to calculate the average of a range

of cells of a spread sheet. She has to display
the average of each row and sum of each
column. She also has to display the average
of all the rows and columns. Consider the
range of cells fran Al to H100. Identify the
correct answer which can be used by her.
[ =Average(Al :H1)
(4) | fBF B2itifnns = Sum (Al :AIOO)]
Copy © all rows and colurmn
=Sum(Al :H1) ]
_f&"&!ﬁﬁms Average (Al : HIOD)

Copy @ all rows and columnn

(B)

©

rows = Average (Al : A100)
_& columns = Average(Al: HI}
Copy W all rows and column and
use it for the entire sheet
=Average(A] ;A100)
(D) forcolumns=Sum(Al :Hi)
& all rows & columas = average (Al : H100)
Copy © all rows and column
(E) Question not attempted
gt A s R @S A A Rafea 4w 1 o
Trae %198 7w dfm w1 shga @0 @i
A % 97 R ¥ g Al § H100 3 e
w1 | IHF 0 TIR T AL UEAM|

=dma(Al :HD
(A) oM (Al A]OD)]
it tfmdt oF wiel & copy 0
[ & e =am (Al (HI)
(B) _mtm=aﬁﬂa(Al:H100}:lf i
&) 4l vd =l § copy @
c [ %R = alwa (A1 :A100)
©  |#Fsrm-dwaarnn |
i il o8 W ¥ copy T
sfre et oire iy et s
tA00)
@) |gAfm=ga L &
Tt et & Rrg = oftwm (AL Higo)
o) et Qd winl A copy wom
(B) ogaf@ v
23INAS-1] O
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Given below is a statement followed by ()

assumptions 1 and 1I. You have to consider

the statement and decide which of the

assumptions is implicit from the statement-

Statement :

‘BURBURRY" brand purses are for the rich.

Assumption :

L Many people like to be labelled rich.

I.  One is not rich if he/she does not have
the purse of that brand.

Give answer - '

(A) If only assumption II is implicit.

(B) If neither of the assumptions I or Il is
implicit.

(C) If both the assumptions I and II arc
implicit.

(D) If only assumption 1 is implicit.

{E) Question not attempted

I wuE R T ¥ fras 9i S gRemd
I3 116y & ¥ anus! e 9 Rt & &
At frofg &1 ¢ % o @ grom wE ®
i &

FYA :
‘BURBURRY’ wis & wd o+t winif & fag #
T 2

N 1 R T G

L R el & T 5 s & o T E
w i T b
IO AR =

(A) e uwen 1 719 ¥

B) A &un [T & 0w &)

(C) i grend I e I s €y
Haw 9T [ 7 2

® o e

Justice Augustine George Masih has become

the Chief Justice of Rajasthan
High Court.
¥ g e ¥
@) 49 By 41
€ 442 (D) 43

(E) Question not attempted / SrTaRd wed

[ Contd...
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he following is not
h of L a
109 signals are discrete and generated n2 Whie !

tor? \
by digital modulations. o @ e T A S T ue
(A) Dlgnal_ (B) Noise A AND j;)/ OR €
(C) Bandwidth (DY Analog o NOT ) Checy :
(E) Question not attempted EE) QuLSuon not attempted/ %
e sdaw ¥ @ wd i %
wREae ¥ wra FRa e 3 113) Arrange the following words in alph%
L Bl (B) 9T O ordcr Which WOfd will come in ¢
(B) orgafa wew em’n qa @ W AR A H gy
ANUJ, ANKIT, ASHISH, BABY, B{m
110 Four persons meet at a party. Each of them (A) ASHISHA " (B) BABY
shakes hands with every other person. How (©) BUSY (D) ANKIT

many hand shakes are i total?

a =i U@ a@l ¥ um gut & Pred ¥ ol d :
Bkl m::g RLES H‘jmif Ty PR ¥ e 114 Development tools like text edior, 4

(E) Question not attempied / ifaf;

libraries, compilers and testing plaifon
Ay 12 \,(B)' 6 available n a

framework o [
) 5 o) 10 (A) Different {B) Single
(E) Question not attempted/ AT WA (C) None of these (D) Multiple

(E) Question not attempted

it Iwwer S Tawe ey, IR
FATER d RET wew™, IDE & __

111 | am a memory device. I am composed of

transistors and capacitors. I am able 10 access
the data fast. Who am I?

e ¥ g W E

(A) Static RAM (A) Tfa= (B uwd 1

(B) Dynamic RAM ' © v 3 =g (D) =g

(C) Static ROM (B).. SRR wg

(D) Dynamic'ROM

(E) Question not attempted : @ If + means S, 0
means —, + meaw

§ us FErd 43 €199 AR WReT zm 7 Means =, then whish of the follow??

T T 31 f S ¥ SR @B UEw &t g ‘hefcsultof

I8 BA g7

225-_25+4x10 5 x 20
AR xR oyt
mﬁ%m“ﬁmﬁ

NG Wi RAM
(B) TR RAM v~

(C) wfams ROM 5+25+4x]0_:,x:)_0 aﬂﬂﬁﬁ?
(D) TRE ROM Ay -10 (BY 303
(E) afa ug ©) 250 () 1700
(E) Question not attempted lﬂﬂm
23INAS-11 O
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116 Read the algorithm and identify the type of | 18 The octal number system has a pase of

sorting used in it.
Set A= 0
WHILE

find the smallet unsorted item

(not sorted yer)

Swap first unsorted item with the smallest

Set Ato A+

(A) Insertion (B) Selection
(C) Bubble (D) Binary
(E) Question not attempted

TR H 9 d41 gy 5 3 B weR @
Berd B IganT g ¥ ?

e A=0

WHILE @ o Bad T )
G9E BT faq1 gerd o oEen s B

U9 B @2 A § A + 1 g1 San e s
AZeH B €Y (IEe-wael) B

(A) wiafe B) gm
(C) gegen (D) fesmurdt
&I?/Njﬁﬁ‘d RS

117 Every OS has a which permanently

resides in the main memory of the computer
to perform some of the basic functions,

(A) Kernel (B) Hardware
(C) Node (D) Centre
(E) Question not attempted

Tl F Rew <ean ¥ O 90 IR B o)

\}/})' 8

119

120

ST STl e gafy § s e ¥ ___ !
B) 16
D) 10
Question not attempted / FFART H¥T

© 4
(E)

Ram is the father of Mala and Rakesh is the
son of Sheela. Vijay is the brother of Ram.
If Mala is the sister of Rakesh, how is Sheela
related to Vijay?

{A) Mother
(&)
(E) Question not attempted

I, "N @ far ¥ Sl Ty e & der ¥
fowm, = %1 wid ¥ 1At wwn, by W e g
o e, fooa @ = gy waEdy &0

(B) Aunt

Sister-in-law (D) Sister

(A) =t (B) =
Oy Wi D) =&
(E) sgaia wet

Who is the first Lokayukta of Rajasthan?
(B) K S. Sidhu
(D) D. P GLlp[a

(A) M. L. Joshi
©
®)
T BT UEAT ThgEd B & 7

I. D. Dua

Question not attempted

&1 & fog wa g ¥
A (B) (/) o AN (B) ¥ w Ry
€ =z (D) ¥= ©) ol W (D) A @ T
(E)  oefa wem (E) oraia wed
23INAS-1] O Page 23 of 32 [ Contd...
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is 4 memo m
) 1 mcmor)’ ry al]aql B,
22 yinnud here- A
(cchnique W '

121 You are given below a question followed by |
two statements 1 and 11. . condary memory i .
\\"ou have to decide whether the data Pﬂ“".d‘-'d VU’\) _ Only s€ %
in the statement is/are suflicient to answer the . gdeolt 1Y mMemory can by ey
311?:::?(?“ - ®) ;nain memory. (
A man standing on the hank of a river observes ) sfier i$ restrieteq
that the angle subtended by a trec on the Data tran Sofemene: bfl‘a
opposite bank is 60°. When he moves aw;l}’ main memory ar ary Moy,
from the bank, he tinds the change in angle. . )
Find the breadth of the river. (D) Main memory  can  be Useg
Statement: dary memory.
L The changed angle is found to be of 30°. secon
I He noticed that when he moved Question not. attempted
40 m away from the bank. tree subtends (E) . R
30° angle on other side of the river. S S T A WEET wae t
Answer - ) ' g
(A)  If data in statement | alone is sufficient (A) Faw fedas aﬁ:ﬁ'& EAR' LI ﬁﬂ]“}q
o answer the question.
(B} If data in both the statements 1 & 11 3!
together are neessary to answer the _ g NG B s
question. (B) fais % = RASEH
(© If data in both the statements 1 & I frm w1 w@ar 3
together are not sufficient to answer the . o
question. ©) =1 =1 W ge qgr e =
(D) If data in statement [alone is sufficient il
0 answer the question. & 4 fm Et_[-lil' &l
(E) Question not attempted . T
ST A1 % 9 ST S AT @ e T ©) For il it v vty & i
ﬁqwtlmmmmmﬁmmﬁ&m foar wmar &1
T ST U BT T 3 2 fong Tt oy ) ' =
L : () wrmiw geq' o
T3 & FHY B 1_60°% @wm%tfi‘sﬁ@ﬁ
urél g*—mg 9 SR B Y 5 @ o ¥ angy | 123 “The five rings of the Olympic symblz
el - A five differen; colours. They are Red.G:
L e gon @ 30047 3 Yellow, Blye and :
I, wﬁamﬁr—n“tééloﬁm(tw%a’r (RY wr
, FT0 TR & g8 T 9 30° 7 er e ! Wil B) Onmne
W~ ©)  Black :
() = e @ 114 frar ey 9 @ E ) Indigo
T e @ 2 g e | I
i o ) Gﬁ-ﬂﬁ% g ¥
T o w2 afy sy &) | MR B S At 5 ey !
(R @ Lo 11 360 4 fory v vy, g T B, e, e i it
O) IR & forw w1y 3 ) = Ea—
qmamxansmuﬂwm%ﬁ&a ¥ REL
9 ¥ (© Y
(B) srgaim g ) ey D) shed
{:
23INAS-] O ae LS.
8¢ 24 013
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The smallest 6-digit number exactly divisible

C

by 201 is -
: oiFl B FEd O gen s & o {5 200
¥ qof wem ¥ -

(A} 100098 L - (B) 100089

(©7 100299 () 1005004

(E) Question not aempted falgﬂﬂ'a ER Y

There are certain number of benches in a
class. If 4 students sit on one bench then
1 bench remains unoccupied. If 3 students
sit on one bench then 23 students remain
standing in the class. Find the number of
students in the class?

% wmar F FE &9 ¥k @ du w4 R
3 @, 1 49 Tl T 9 ¥ Al TeEE 99 W
3 fenfifal & fysmn g @ 23 framdt war §
s & R ¥ 1w A g Renfidl B e
B .

ﬂ 78 - (B) 104

() 110 (D) 48
(E) Question mt attempted / AT WA

The greatest possible length which can
measure 80 meter- 64 cm and 96 meter.

(A) 960 cm (B) 840 em
(C) 480 cm (D) 384 cm
(E) Question not attempted

a€ ofrwan e e S 80 WX 64 A,
ot 96 ¥Rt @ T B A waERy ¥

(A} 960 F.4 (B) 840 A5
(C) 480 @i, (D) 384 w.,
(E) i g

23INAS-1] O

Page 25 of 32

127 Find the missing number -

SIEIA e W wmy -

1417 Ta2 T1s
2120056 [156 | 7

(A) 188 @) 342
©C) 472 D) 215
(E) Question not attempted / SRt 77

128 Which of the following is used while
waorking on Touch pad?

(A) Pencil
(C) Gloves

B) Stylus

(D) Finger

(E) Question nat attempted

zadE W o B ot F § Rewer 3w

fopa smam &7

(a) dfew BT e
(C) Tdrm (D) ST
(B) i o

@ Two numbers are in the ratio of 12: 13, If
their H.C.F. is 11, then the numbers ar -

(A) 121 and 169 (B) 132 and 143
(€ 121 and 144 (D) 144 and 169
() Question not attempied

2 gemal @ o R 1213 ¥1alk e aeem
gaad 11 & @ €ea s AR

(A). 121 ST 169 (B) 132 shv 143
(©€) 121 AT (D) 144 3T 169
(5 orgaa W

[ Contd...
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131)Six boys A, B, C,
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N is very essential in today’s
digital age where milliass of datais created

ard are illegally used by some. In order to

protect data, —____grants legal rights ©
creators for their orig

inal work.
(A} Copyright (B) Trademark
(C) Licensing (D) 1IPR
(E) Question not attempted 5
m%%ﬁmgﬁﬁ'mmm&mm%w
SrET S1T T frmtor Sy & T P Wi F
B B % A wwii foran s &1 =y
fora Fiaiommat @1
BT At 3 3
S wingz B) %= wih

€) wrgafn (D) IPR

RK.CGita e

D,Eandeerebomon

the same day but in different -years during a

span of six years,

1. A is older than ¢

2 Bis older than both D and E

3. Fis 2 years older than D

4. A was born either in 1952 or in 1953

3. The oldest member of the group was
born in 1950

IfF is the ojdest of the group, then identify

the correct statement -

(A) A was born in 1952
(B) D was born in 1951
(C) B was bom in 195]
(D) C was bom in 1954
(E)  Question not attempted

B:Weh A,B,C,D, E 3 F o o1 vy

L
mﬁaw%,mmwﬁamwadam—
e )

.sen below a qu?.Stionfou
-132 - ll:tzgle[‘ls [and 1. ™. Vi
e

t\va(:] ;a veto decide whether g dy
(0

- 8 o
ment isare Sufficieq ,

&
the question:

stion * i

Uhien day of the week is o 2004
tement : i

lSta € o Sunday of this month fall.

October. ;
I Year for the given dage 200,
Answer -

(A) If data in statement II. alone 1Sy
to answer the question,

If data in both the statemey;

together are necessary 1o ansy

guestion.

If data in both the Statemens

together are not sufficient to:

the question.

If data in statement I ajope issuf

© answer the questjon.

(E)  Question not attempted

9 A U gy TS ama e
gﬁ’qmg%‘l R AT T wTw B

T BT wes W I T $
ar e

A

i‘:ﬁ%ﬁrmwﬁqmﬁw

B
- (©

(D)

L A, CAam & T A :

2. B/D ot Ed 4 am & L gy g g o TR ] S

3. FED¥2ad am ¥ A) o T 2 2023 b

b A ad 1952 9 @ fey 1953 i :::‘;T"W I ey man =7
Y ) % vt 3

3. TR = T 1950 § s kg \ﬁ?ﬂ&gﬁwiiﬁéﬁmwl

HﬁFmﬁmw%ﬁmﬁliﬁmmﬁq_ - - i

(A) A anwra 1952 § ganr o © o T TRy sifd

(B) D &1 511 1951 % ganr o T 1 3y 11 25y & e

) Bar 71951 4 gan by WT%‘%&;MW,@(@

D) C w7 1954 3 T u| ufy 4

(E) q % g:ﬁ ?B‘FY%I HN S 9

(E) » |
23INAS-1] O Page 3¢ e R g
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133 Which number belongs fo all the geometrical

135

figures?

ﬂﬂ%ﬁﬁwmu‘ffﬁnﬁiﬁﬂﬁﬁ’fﬁﬁﬁﬂ%?

)

~ 9 10

A 5 (B) 6

J&r 4 Dy 3
(E} Question not attempted / 3aRd 997

IDE suite consolidates basic tools require 10
write and software.

(A) Test (B) Design

(C) Delete (D) Play

(E) Question not attempted

IDE Suite awedax fo@s @ & fag
HEXTE YEE YT B TR S
(A) TR (@ HTN) fsoTret

(C) R&rR femm) (D) < (oW

(E) oFuRa 9

Which geometrical figure represents for
Input/Output operation of an algorithm?
(A) Circle

(B) Rectangle

(C) Parallelogram

(D) Diagonal

(E} Question not attempted

feed waTiTeas § TAYE—METYE B 29 % Rro
frg SO ATpla @ w4 ET &7

(A) 94

APy s

(C) @Rt agdw

(D) famai

(E) orafE 99
23INAS-1] O
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Page 27 o1 32

is the separation of the logical VIEW
of data from its implementation.

(A} Data Abstraction
(B)  Testing
(C)  itinfisation
(17)  Contral Structure
()  Question not attempted
q gughiE ¥
gy 321 guFEEm
(B) whem
(C) artfy
(D) Frimw g
(B) orgaRa e

@Thc Binary scarch algorithm assumes that

the items in the array are and it
cither finds the item or eliminates half of
the array with one comparison.

(A) Sorted (B) Checked
(C) Sclected (D) Unsorted
(E) Question not attempted

feomard @i cemiftaw 9% oan & 7B g A
arafter L g Wr B ATl
TG AT § [ Y HE W gEs & A 9X
T BT

(A) aiipa (B) it fem .
© g (D) g
(E) ogufa e

Rashi is twice as old as Sunita. Three years
ago she was three times as old as Sunita.
How old is Rashi now?
(A) 8 years (B)
(C) 7 years (D}

6 vears
12 years

(E) Question not attempted
mgﬁmﬁgﬁwaﬁ%l?ﬁ?aﬂ‘ﬁfm
mgﬁmaﬁangﬁiihg"nzhlnﬁlaﬁma
Ay Gl

(A) 8 ad (B) 6ad

@) orgdta 997

[ Contd...
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133 Which number belongs to all the geometrical
figures?

ar @ g o e s Rl @ w7

Vi) o

(A) 5 (B) 6

oy 4 (D) 3

(E) Question not attempted / SraRd W
134 IDE suite consolidates basic tools require to

write and software,

(A} Test (B) Design

(C) Delete (D) Play

(E) Question not attempted

IDE Suite gwzdat faas am ¥ fra

AT AT IS F TS B S

(A) e (3 wTm (B R
(C) foie (e ) < (@@
(E) orana 9e7
I35 Which geometrical figure represents for
Input/Output operation of an algorithm?
(A) Circle
(B) Reclangle
(C) Parallclogram
(D) Diagonal
(E) Question not attempted

feredl Temiem  TTgR-—oSeye &t 9 ¥ R
fee v sngfa @ wdT g &7

R ———=—=——

136 . " .
—— 15 the separation of the logical viIeW

of data from js implementation.
(AY  Datg Abstraction
) Te Sling
(€)  Initialisation
(D) Control Structure
()  Question not attermpted
q giET ¥
(A 24 yggmm
B) gfem
©  omtvimTn
(D) T gea
€) orgaid g

The Binary scarch algorithm assumes that
the items in the array are and it
cither finds the item or eliminates half of
the array with one comparison.

(A) Sorted -(By Checked

{C) Selected (D) Unsorted

(E)  Question not attempted

fgamerll diw oeifem 98 PR R agm g
AR g1 & W Te T B ATBIG
TAl WA E AT I FE B qEAT F AT 9T
A BT B

(A) aiiga (B) g fmar .

€ g™ (D) SRR

(E) srqala uw

/I;D Rashi is twice as old as Sunita. Three vears
ago she was three tir_nes as old as Sunita,
How old is Rashi now?

(A) 8 years (B) 6 years
(C) 7 years (D) 12 years
(E) Question not attempted

i i ¥ T SR A ¥ A g e

k.8 o e o8 g @ 4 T o e Y e
, T HU
(€) gﬂ;ﬁ Rk :E g B 6 ad
(g) . ©) 73 (1 12 =4
. () omaitd v
23INAS-11 O Page 27 op 30 [ Contd...
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140

=Vl PSC SO Mgl RSC kN

Every NIC Carg Attached 10 the node of a
network has g unique M

AC address. This
MAC address g of

———___bit address,

(A) 96 (B) 128
€) 256 9,. 48
(E)

Question not attempted / srqala wy

Which of the following diagrams best fits

for the given group of element

s? Judge,
police, Thief

ﬁqaﬁ@ﬁﬁﬁqmw%}sﬂa’f%ﬁmm
IR @ F GG Hifvr,

R, R, G

o (D

141

142

~:

: .ncert.nic.inn
http://WWW : ¢

In (bockhtm address which g thedu?:

lc;nc andvvhich web page i T Queg s

I :

eXthg,

™ 3 ks

hltp_waw.nccrt.nic.im*t

textbook.htm GE ¥ Sy &

M nceﬂ.nic.in

http
3. textbook
4. textbook.htm
5 www

Choose the correct answer from the

opli
given below :

%ﬁqm‘hﬁﬂfféﬂ‘ﬁmﬂﬂﬂ?#
A 23 B) 4,5
© _1,4 oPr 15

(B)  Question not attempted / srafa

Identify the gateway for simple
connectivity at homes,

(A)  Server
(B) rLAN

(B) ©  wan
D) Internet Service Provider (I1SP)
®) Question not attempted

O O T ¥ w9 g T g7

©) Q VI RER (red) 2 et
(A) et

o OE i

(D) 5 i b 5

(E)  Question not” atiempted / sietea wsy D) Rz wfaw (ISP)
(E)

23INAS- O Pagedgory,
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143 Below is given a statement followed by SOM€ | 144 which of he following comes under remote
conclusions. Assuming statement 10 bg login?
universally true, decide which of th 1 g -
conclusions follow from the given statement. Video conferencing
Statement : 2 Talking on phonce
No cap is socks. Some caps are gloves. 3 Telnet
Conclusion : 4. Any PC
L All gloves are socks. Choose the most appropriate answer from
L Al socks are gloves. the options given below :
. Some gloves are caps. (4) land 2 (B) Only 3
Give answer - (€) 3and 4 (D) Only 1
(A) If only conclusion 11 follows. (E) Question not attempted
(B) If only conclusion III follows. P & fde wigm % sieta =1 o &7
(C) If none of the conclusions I, I, 1II 1. i sishan
follows. e
2. T g
(D) If only conclusion ! follows.
(E) Question not attempted =
A o T R ¥ ol sk a5 Pred R 4 WEPC
T ¥ 1B B Eded w9 § g A 5w Pk e Ry T et F @ w8 I @ T Fi
BT i @& |1 Prepd wd &7 X
(A) 1wd2 B) Haw 3
FYA :
: " ERCIE. (D) Haw 1
w3 28 09 7 ¥ gu ARAT @ E e
ey ®) ! s
L, T TEE e B

‘ﬂ, ol : s %) 145 IDE s basically an environment of tools like
II. TR 2fEt ¥ /
£y (A) Deébugger (B) Compiler

T qfa -
\ (©) All of these (D) Text Editor
(A) &Fad Il Frad gy &)

BT w1l Prad we ¥ U o 4
: y JYH FI
(©)- L 1 ot M Prend wreg % L R

®) Faw | Prpd g 3 e S 5
(E) 3 qaf@ ugw I 8 Y T g
(B) orpalta 99 .
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(E) Question not attempted

23INAS-11 O
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e best software iy

L
]—W whi ch b pagc? %.

146 Ravi and Gaurav arc brothers. Divya and : n-miC we
Tanya are sisters. Ravi's son is Tanya's -(-y (B} %
brother. How is Gaurav related o Divya’? (A) Goﬂgl" Mor,
(A) Brother (B) Grandlather gl Ruby (13) HTM|
(C©) Uncle (D) Father (¢ "

(E} Question not attenipted (E) Question o

T 3R i s 81 femn die a9 ae # v g U1 T & Ry
T & g A B 9IS ¥ i o fiem o 3:“” S 1

ey §? SLEE

GV (B) B) T (B) fmin

e (D) fiar
\«?@/ © & Py HTML
(E) omuita wed
- _ (E) ogand ¥

147 QR consists of three distinct squares. First ;
two are on the sides of the top and the last
one is on the .;of the bottom. 150 Who won the ti_tl_é: of M Bikam
(A) Top (B} Right International Ciamel Festival -
(C) Center (D) Left organized in Bikaner? '

(E) Question not attempted :
QR % § fafe= waR & o 2 ¥ 19ew 3 HAC (5] Rejesh Mma =
# gemai gT @ oife e 4@ g Bt (B) Avinash Singh -
(A) &It (B) =
V(Q»- s g (C) Ravindra Joshi -
(E) erafa 9§ (@) Kamal Siddu
(E) QUCSﬁOI-‘l not altelllptc‘d 4
148 Find the missing number. —
AT T B TG B T s, erRis &2 9
R “Prey Rrery faans @l 2
15120 | 3
9 A) g Fr —
360
72 18 (B) AfeTYr e
(C :
(A) 7560 BT 2160 A e i .%:;
(C) 4320 (1) 1800 15— Rre &
(E) Question not attempted / sraita 9% d j b
: £
) e wem
23INAS-11 O Page 30 or3, (



